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55229[] 0.098 R5.3.6 9:30 i 7.0 0 Pl TEREIHT FPAI7IL
55228[E] 0.094 R5.2.6 9:50 ED 4.0 0 hsFh TEREIHT FRAI7IL
5522705 0.098 R5.1.16 9:25 ==10) 6.5 0 Pl TEREIHT FPAI7IL
55226[H] 0.096 R4.12.5 9:05 ED 9.0 0 hsFh TEREIHT FRAI7IL
55225[5] 0.102 R4.11.7 9:40 i 9.5 0 Pl TEREIHT FPAI7IL
55224[5] 0.088 R4.10.3 9:50 ED 22.0 0 PR TEREIHT FRAI7IL
55223[5] 0.098 R4.9.5 16:40 =-10) 29.0 0 PR TEREIHT FPAI7)
55222[0] 0.100 R4.8.1 9:05 i 28.0 0 h1sFh TE = ] FRAI7IL
55221[5] 0.090 R4.7.4 9:15 5§ 21.0 0 PR E [ E] FPAI7)
55220[E] 0.094 R4.6.6 9:50 5§ 19.0 0 h1sFh TE = ] FRAI7IL
55219[5] 0.088 R4.5.2 9:45 i 11.0 0 PR TEREIHT FPAI7)
55218[H] 0.096 R4.4.4 9:15 =-10) 7.5 0 hsFh TE = ] FRAI7IL




